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X=-2-7 X=1 MMpRPLp MMMy = (x>+a)e™  mxpnay (50
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b)a INNYD X=-2-1 X=1 MTPIPOp MMMy = (x*+a)e®™  mypnay
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y = (x? + a)e’*
y'(=2)=0 ,y'(1)=0 5ym
y' = (x%+a)'eP* + (x? + a) - (e?¥)’
y' = 2xe’™ + (x? + a) - be?*
y'(1) =0->2e?+(1+a)-be? =0
e?’(24+b+ab)=0
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b)a INNYD X=-2-1 X=1 MTPINOP MMMy = (x*+a)eP™®  mypnas
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e?(2+b+ab) =0

24+b+ab=0

y' = 2xe’ + (x? + a) - be?*
y'(=2)=0-> —4e 2’ + (4 + a)be 2P =0

e (=4 +4b+ab) =0
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b)a INNYD X=-2-1 X=1 MTPIPOp MMMy = (x*+a)e®™  mypnay
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e (=4 +4b+ab) =0

—4+4b+ab =0

: D00V VWA MXNYN YNV DV NIIVN NODP

:2+b+ab=0
k—4+4b+ab=0

6 —3b =0 :52p) ,NMVYNIN IRNVNINN NMIVN IRNIYNID NN T0N)
b =2
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b)a INNYD X=-2-1 X=1 MTPIPOp MMMy = (x*+a)e®™  mypnay
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2+b+ab=0

b=2->24+24+2a=0

4+2a=0
2a = —4
a=—2
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b)a INNYD X=-2-1 X=1 MTPINOP MMMy = (x*+a)eP™®  mypnas
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b=2 ,a=-2 :020Y
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